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Určete kořen rovnice.
Začátek formuláře
x + 10 = 2 x = 
y . (1 – 16) = 2 – 32 y = 
7x . 3 = 6 . 7 x = 
12z = 36 – 12 z = 
15z = (18 – 3). 8 z = 
y – 16 = 3 + 16 y = 
15(z – 3) = 15 z = 
c + 16 = 40 c = 
8x – 3 = 37 x = 
z – 3 . (-8) = 24 z = 
Určete, kdy se jedná o rovnost a kdy o rovnici.
Začátek formuláře
12 . ( 9 + 6 ) = 12 . 15 
z = 5 . (2 + 3) 
2 + y = 2 + 6 + 2y 
10 = 2 + 5 
1 + 4 + 8 = 5 + 5 + 3 
2y – 5 = 30 
2 + 3 = 5 
3 . 3 . 2 + 4 = (3 + 3) . 3 + 4 
18y – 5 = 10 
5z - 12 = 30 + 2z 
Konec formuláře
Konec formuláře
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